B2 B 3% 1@ i}
WS wpy | 27 ?;'iﬁﬁﬂ &
S—1>H54 15| 1,690
X HARJOYRSA ~ 1 1,690
A AIYRS1 b 15| 550
" TEERAIYRSA b I 550
| R=F—354k i 900
) 7Il=RUY > RS1 b 2 1,130
g a7 -k RSA bk 1" 1,130
B K= 54K 13t 900
=0 AH99—54 b 147 550
o T A—E> ARy RSA N = 1,690
1 kwZRy k51 R 147 110
50 0 WARYRSA N I 60
” 3= 54k 15 790
X PRIV ER 15 790
n AIVRSA 15 330
| R=HF—51K i 450
) PYIN=RUY > R5A b 0 450
it O7—HkRIV> R/ b 1" 450
BH R=X>4IL54 b 134 550
= > A-ES ARy 54 b = 1,130
j 1 kwZRy k51 R 147 110
50 0 WARYRSA N I 60
Par3sM4b 14T 330
FQ31b I 330
ANIWTSAN (4 4TF) 1K 60
AMNwTS4 b~ (8XTH) 7 110
EE-TE 118 110
RSLRS> a8 550
SS5—h-JL ) 330
“ hyH—E> ARy 54 b 14T 550
7S FARIISY 1 550
B 254 REv)T7 i 550
i B> 147 550
BA o H—LAITY 18 550
Hy DTV 1R 550
fis 7\)[/7‘1 ~OA " 550
7539951 b 14T 110
JO>1949—Zw k54 bk 1" 330
FIk 1 550
E—34k 147 330
TOTIVZARYRSA N I 550
ITO i 550
I T OBt LAY 118 230
I T OA7AYRIvwH— I 110




